Warm Up

Jose Bautista of the Toronto Blue Jays made contact with a Chris Carpenter fastball
and hit a fly ball whose height above the ground (in metres) after ¢ seconds was
represented by the function ...

h(t)=-4.9 +53.91 +1

(a) Petermine the average rate of change in the height
of the ball between = 1sand t=4s.

etermine the ipstantaneous rate of change in the height

of the ball the 2 seconds after being hit. (Tanget function of TI-83 not ermi%e‘dko
(c) Determine when the instantaneous zate of change of the 5 i

heightofthe ball is zero.
(d) Determine the instantarieous rate of change the instant the

ball is at a height of 41 m for the second time.
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